

On the normal subgroup with coprime G -conjugacy class sizes

XIANHE ZHAO^{1,2}, GUIYUN CHEN^{1,*} and JIAOYUN SHI³

¹School of Mathematics and Statistics, Southwest University, Chongqing 400715, People's Republic of China

²College of Mathematics and Information Science, Henan Normal University, Xinxiang Henan 453007, People's Republic of China

³School of Mathematical Science, Fudan University, Shanghai 200433, People's Republic of China

* Author to whom correspondence should be addressed

E-mail: zhaoxianhe989@yahoo.com.cn; gychen1963@163.com; jyshi@fudan.edu.cn

MS received 11 November 2010; revised 16 February 2011

Abstract. Let N be a normal subgroup of a group G . The positive integers m and n are the two longest sizes of the non-central G -conjugacy classes of N with $m > n$ and $(m, n) = 1$. In this paper, the structure of N is determined when n divides $|N/N \cap Z(G)|$. Some known results are generalized.

Keywords. Finite group; normal subgroup; G -conjugacy class size; Frobenius group.

1. Introduction

All groups considered in this paper are finite. Let G be a group, and x an element of G . We use x^G to denote the G -conjugacy class containing x , and $|x^G|$ the size of x^G . Among all G -conjugacy class sizes, the first and the second largest sizes of conjugacy classes are called the two longest conjugacy class sizes.

In recent years, the relationship between certain arithmetical conditions on conjugacy class sizes and the structures of finite groups has been widely studied, see, for example, [1–9]. Among these results, the paper [3] asserts that $G/Z(G)$ is a Frobenius group under the condition that the two largest sizes of conjugacy classes of the non-central elements in G are coprime.

On the other hand, let N be a normal subgroup of a group G . It is clear that N is a union of some conjugacy classes of a group G . So, it is interesting to explore the structure of the normal subgroup N if G -conjugacy class sizes of N are given, see [6,7,9].

Enlightened by [3] and [6,7,9], we are interested in the following question.

Question. Let G be a group and let N be a normal subgroup of G . Suppose that the positive integers m and n are the two largest sizes of the non-central G -conjugacy classes of N with $m > n$ and $(m, n) = 1$, is $N/Z(N)$ a Frobenius group?

Since there is no necessary relationship between $|x^G|$ and $|x^N|$ except the divisibility that $|x^N|$ divides $|x^G|$ for an element x of N , it is very difficult to obtain a positive answer

to the above question. But, by considering the relationship between n and $|N|$, we have the following:

Theorem A. *Let N be a normal subgroup of a group G . For $a, b \in N$, let $m = |b^G|$ and $n = |a^G|$. Suppose that m and n are the two longest sizes of the non-central G -conjugacy classes of N with $m > n$ and $(m, n) = 1$. If n divides $|N/(Z(G) \cap N)|$, then either $N/(Z(G) \cap N)$ is a prime power order group or*

- (i) $C_N(a)$ and $C_N(b)$ are abelian and $C_N(a) \cap C_N(b) = Z(G) \cap N$.
- (ii) The G -conjugacy class sizes of elements in N are exactly 1, m and n .
- (iii) $N/Z(N)$ is a Frobenius group with the kernel $C_N(a)/Z(N)$ and complement $C_N(b)/Z(N)$.

So the main result in [3] is generalized.

Let π be a set of some primes. We use x_π and $x_{\pi'}$ for π -component and π' -component of x , respectively. Moreover, G_π denotes a Hall π -subgroup of G , $G_{\pi'}$ a Hall π' -subgroup of G , n_π the π -part of n whenever n is a positive integer. Apart from these, we call an element x non-central if $x \notin Z(G)$, where $Z(G)$ is the centre of G .

2. Preliminaries

We first list some lemmas that are useful in the proof of our main result.

Lemma 2.1. *Let N be a normal subgroup of a group G and x an element of G . Then*

- (a) $|x^N|$ divides $|x^G|$;
- (b) $|(Nx)^{G/N}|$ divides $|x^G|$.

Proof. See Lemma 1.1 in [5]. □

Lemma 2.2. *Let N be a normal of a group G and $B = b^G$, $C = c^G$ with $(|B|, |C|) = 1$, where $b, c \in N$. Then:*

- (a) $G = C_G(b)C_G(c)$.
- (b) $BC = CB$ is a G -conjugacy class of N and $|BC|$ divides $|B||C|$.

Proof. Applying Lemma 1 in [1], it is enough to prove that $BC \subseteq N$. In fact $BC = (bc)^G$ by Lemma J(b) in [2], so we have that $BC \subseteq N$ as $b, c \in N$. □

Lemma 2.3. *Let N be a normal subgroup of a group G , and B_0 a non-central G -conjugacy class of N with the largest size m . Then the following properties hold:*

- (a) Let C be a G -conjugacy class of N with $(|B_0|, |C|) = 1$, then $|(C^{-1}C)|$ divides $|B_0|$.
- (b) Let n, m be two largest G -conjugacy class sizes of N with $m > n$ and $(m, n) = 1$, and D a G -conjugacy class of N with $|D| > 1$. If $(|D|, n) = 1$, then $|D| = m$.

Proof.

- (a) Lemma 2.2(b) implies that CB_0 is a G -conjugacy class of N . Clearly $|CB_0| \geq |B_0|$. By the hypotheses, we have that $|CB_0| = |B_0|$, from which it follows that $C^{-1}CB_0 = B_0$, and hence $\langle C^{-1}C \rangle B_0 = B_0$. Consequently $|\langle C^{-1}C \rangle|$ divides $|B_0|$.

- (b) Let A be a G -conjugacy class and $|A| = n$. Note that DA is a G -conjugacy class by Lemma 2.2(b). Clearly $|DA| \geq |A|$. The hypotheses of this lemma forces $|DA| = n$ or m . If $|DA| = n$, then $D^{-1}DA$ is a G -conjugacy class and hence $D^{-1}DA = A$, so $\langle D^{-1}D \rangle A = A$. It leads to $|\langle D^{-1}D \rangle|$ divides $|A|$. On the other hand, $\langle D^{-1}D \rangle \subseteq \langle A^{-1}A \rangle$, so $|\langle D^{-1}D \rangle|$ divides $|\langle A^{-1}A \rangle|$. By (a), we have that $|\langle A^{-1}A \rangle|$ divides $|B_0|$, hence $|\langle D^{-1}D \rangle|$ divides $|B_0|$, a contradiction. Consequently $|DA| = m$, that is to say $|B_0|$ divides $|A||D|$, therefore $|D| = |B_0|$. \square

Lemma 2.4. *Suppose that N is a normal subgroup of a group G . Let B_0 be a non-central G -conjugacy class of N with the largest size. Let*

$$M = \langle D | D \text{ is a } G\text{-conjugacy class of } N \text{ with } (|D|, |B_0|) = 1 \rangle.$$

Then M is abelian. Furthermore, if $(Z(G) \cap N) < M$, then $\pi(M/(Z(G) \cap N)) \subseteq \pi(B_0)$.

Proof. Let

$$K = \langle D^{-1}D | D \text{ is a } G\text{-conjugacy class of } N \text{ with } (|D|, |B_0|) = 1 \rangle.$$

By the definition of M and K , it is clear that $K = [M, G]$. Let $d \in D$, where D is a G -conjugacy class of N with $(|D|, |B_0|) = 1$. By Lemma 2.3(a), we have that $\pi(K) \subseteq \pi(B_0)$, so $(|K|, |D|) = 1$, hence $|d^K| = 1$. It shows that $K = C_K(d)$, so $K \leq Z(M)$. Moreover, $M/K \leq Z(G/K)$. It follows that M is nilpotent. Obviously, $(Z(G) \cap N) \leq M$. If $(Z(G) \cap N) < M$, let $r \in \pi(M/(Z(G) \cap N))$, $R \in \text{Syl}_r(M)$. Then $R \trianglelefteq G$. Notice that $1 \neq [R, G] \leq [M, G] = K$, we know $r \in \pi(K) \subseteq \pi(B_0)$, so $\pi(M/(Z(G) \cap N)) \subseteq \pi(B_0)$. Suppose that D is a generating class of M and $d \in D$, then $|d^R| \mid (|R|, |D|)$, but $(|R|, |D|) = 1$, so $R = C_R(d)$. Therefore $R \leq Z(M)$, and consequently M is abelian. \square

3. Proof of Theorem A

In this section we are equipped to prove the main result.

Proof of Theorem A. Assume that $N/Z(G) \cap N$ is not a prime power order group. For convenience, we write

$$M = \langle D | D \text{ is a } G\text{-conjugacy class of } N \text{ with } (|D|, m) = 1 \rangle.$$

We will complete the proof by the following steps:

Step 1. We may assume that $N_p \not\leq Z(G)$ for every prime factor p of $|N|$.

Otherwise, there exists a prime factor p of $|N|$ such that $N_p \leq Z(G)$. Then $N = N_p N_{p'}$. Without loss of generality, we replace N with $N_{p'}$.

Step 2. If the element $x \in Z(C_G(b)) \cap N$, then either $x \in Z(G)$, or $C_G(x) = C_G(b)$.

Obviously, it follows that $C_G(b) \leq C_G(x)$, so $|x^G|$ divides $|b^G|$. If $x \notin Z(G)$, then $|x^G|$ divides m , so $(|x^G|, n) = 1$ by Lemma 2.3. Therefore $|x^G| = m$, whence $C_G(x) = C_G(b)$.

Step 3. We may assume that b is a prime power order p -element.

Let p be a prime factor of the order of b , b_p the p -component and $C_G(b_p) \neq G$. It is clear that $C_G(b) = C_G(b_p b_{p'}) = C_G(b_p) \cap C_G(b_{p'}) \subseteq C_G(b_p)$. By Step 2, we have that $C_G(b_p) = C_G(b)$. Replacing b with b_p , Step 3 follows.

Step 4. $C_N(b) = P \times L$, where P is a Sylow p -subgroup of $C_N(b)$, L is the p' -Hall subgroup of $C_N(b)$ with $L \leq Z(C_G(b))$. If $L \not\leq Z(G)$, then $C_N(b) \leq Z(C_G(b))$.

Let $x \in C_N(b)$ be a p' -element. Then $C_G(bx) = C_G(b) \cap C_G(x) \leq C_G(b)$, from which it follows that $|b^G|$ divides $|(bx)^G|$. Now, the maximality of $|b^G|$ implies that $|b^G| = |(bx)^G|$, which forces that $C_G(bx) = C_G(b) \leq C_G(x)$, and hence $x \in Z(C_G(b))$. Consequently, $C_N(b) = P \times L$, where P is a Sylow p -subgroup of $C_N(b)$, and L is the p' -Hall subgroup of $C_N(b)$ with $L \leq Z(C_G(b))$.

Particularly, if $L \not\leq Z(G)$, let $y \in L$ be a non-central prime power order q -element. By Step 2, one has that $|y^G| = m$, and hence $C_G(y) = C_G(b)$. By the above argument, we have that $C_N(y) = Q \times L_q$, where Q is a Sylow q -subgroup of $C_N(y)$, and L_q is the q' -Hall subgroup of $C_N(b)$ with $L_q \leq Z(C_G(b))$. Notice that $C_N(b) = LL_q$, we have that $C_N(b) \leq Z(C_G(b))$, as required.

Step 5. $p \nmid m$.

Otherwise, if $p \mid m$, then $p \nmid n$. In view of Lemma 2.1, we have that $p \nmid |a^N|$. Notice that $|a^N| = |N : C_N(a)| = |C_N(b) : C_N(a) \cap C_N(b)|$. We have that $P \leq C_N(a) \cap C_N(b)$, which implies that $a \in C_N(b)$. To complete the proof, we distinguish two cases according to whether L is contained in $Z(G)$ or not.

(1) If $L \not\leq Z(G)$, notice that $a \in C_N(b)$, so application of Step 4 yields $C_G(b) \leq C_G(a)$, which implies that $|a^G|$ divides $|b^G|$, a contradiction to the hypotheses.

(2) If $L \leq Z(G)$, by the argument of the first paragraph, we have that $C_N(b) \leq C_N(a)$, which yields $|a^N|$ divides $|b^N|$. Notice that $(|a^G|, |b^G|) = 1$, we have that $|a^N| = 1$ by Lemma 2.1, equivalently, $N = C_N(a)$. Obviously, we may assume that a is a p -element since $a \in C_N(b) = P \times L$. For every p' -element $x \in N = C_N(a)$, we have that $C_G(ax) = C_G(a) \cap C_G(x) \leq C_G(a)$, so the hypotheses of the theorem imply that $C_G(ax) = C_G(a) \leq C_G(x)$, from which it follows that $x \in Z(C_G(a)) \leq Z(N)$. Of course we have $x \in C_N(b)$ and hence $x \in L$. Consequently $N/(N \cap Z(G))$ is a prime power order group, a contradiction to the hypothesis.

Step 6. We may assume that a is a p' -element.

Let $a = a_p a_{p'}$, where $a_p, a_{p'}$ are the p - and p' -components of a , respectively. Since $C_G(a) = C_G(a_p) \cap C_G(a_{p'}) \subseteq C_G(a_p)$, it follows that $a_p \in M$ by Lemma 2.1. If $a_p \notin Z(G)$, then $p \in \pi(M/(Z(G) \cap N)) \subseteq \pi(m)$ by Lemma 2.4, a contradiction.

Step 7. $C_N(a)_p \leq Z(G)_p$.

Suppose that there exists a non-central p -element $y \in C_N(a)$, then $C_G(ay) = C_G(a) \cap C_G(y) \subseteq C_G(a)$, so we have $C_G(ay) = C_G(a)$ by the hypothesis of the theorem. It follows that $ay \in M$, therefore $y \in M$ as $a \in M$. Now one has that $p \in \pi(M/(Z(G) \cap N)) \subseteq \pi(m)$, a contradiction. Hence $C_N(a)_p \leq Z(G)_p$.

Step 8. $C_N(a) \cap C_N(b) \leq Z(G)$, and therefore $Z(N) \leq Z(G)$.

If there exists a non-central element $y \in C_N(a) \cap C_N(b)$, we distinguish two cases as in the proof of Step 5:

(1) If $L \leq Z(G)$, then we may assume that y is a p -element. So y is a p -element of $C_N(a)$, a contradiction to Step 7.

(2) If $L \not\leq Z(G)$, we have that $y \in C_N(b) \leq Z(C_G(b))$ by Step 4, so $C_G(y) = C_G(b)$. Therefore $a \in C_N(b) = C_N(y)$, and it follows that $C_G(b) \leq C_G(a)$ by Step 4 again, a contradiction.

Finally, notice that $Z(N) \leq C_N(a) \cap C_N(b)$, and we surely have $Z(N) \leq Z(G)$.

Step 9. We have that $\pi(|a^N|) = \pi(|a^G|)$ and $\pi(|b^N|) = \pi(|b^G|)$. Hence, if $L \leq Z(G)$, $|a^G|$ is a power of p .

We begin by showing that $\pi(|a^N|) = \pi(|a^G|)$. If there exists a prime q satisfying that $q \mid |a^G|$ but $q \nmid |a^N|$, then $q \nmid |b^G|$, and consequently $q \nmid |b^N|$. It follows that $C_N(a)$ and $C_N(b)$ contain a Sylow q -subgroup of N . Notice that $N = C_N(a)C_N(b)$, and we have $C_N(a) \cap C_N(b)$ contains a Sylow q -subgroup of N , say N_q , hence $N_q \leq C_N(a) \cap C_N(b) \leq Z(G)$, a contradiction to Step 1. Therefore $q \mid |a^N|$ for every $q \mid |a^G|$, so $\pi(|a^N|) = \pi(|a^G|)$ by Lemma 2.1. Similarly, we have that $\pi(|b^N|) = \pi(|b^G|)$.

Next we show that $|a^G|$ is a power of p . Obviously, $|a^N| = |N : C_N(a)| = |C_N(b) : C_N(a) \cap C_N(b)| = |PL : Z(G) \cap N|$. If $L \leq Z(G)$, then $|a^N|$ is a power of p . Hence $|a^G|$ is a power of p by $\pi(|a^N|) = \pi(|a^G|)$.

Step 10. $|x^G| = m$ for any non-central p -element $x \in N$, and therefore $C_N(b)$ is abelian.

As $C_N(b)$ contains a Sylow p -subgroup of N and $p \nmid m = |b^G|$, without loss of generality, we may assume that $x \in P \setminus Z(G)$. We distinguish two cases as in the proof of Step 5:

(1) If $L \not\leq Z(G)$, then $x \in C_N(b) \leq Z(C_G(b))$ by Step 4, so $C_N(b)$ is abelian and $|x^G| = m$.

(2) If $L \leq Z(G)$, we know that $n = |a^G|$ is a power of p by Step 9. On the other hand, M is abelian, and $Z(G)_p \leq M \leq C_N(a)$, so we can write $M = M_{p'} \times Z(G)_p$ by Step 7. Notice that $\langle x \rangle$ acts coprimely on the abelian subgroup $M_{p'}$, and we obtain a direct product:

$$M_{p'} = [M_{p'}, \langle x \rangle] \times C_{M_{p'}}(x).$$

Denote by $U = [M_{p'}, \langle x \rangle]$. As $a \in M_{p'}$ and $M_{p'} = [M_{p'}, \langle x \rangle] \times C_{M_{p'}}(x)$, we can write $a = uw$ with $u \in U$ and $w \in C_{M_{p'}}(x)$. Consider the element $g = wx$. We have that

$$C_G(g) = C_G(w) \cap C_G(x) \leq C_G(x).$$

If $|g^G| = m$, then $|x^G| = m$ by Lemma 2.3 since $|x^G|$ divides $|g^G|$.

If $|g^G| = n$, then $|x^G|$ divides $|g^G|$, namely, $|x^G|$ divides n , so $x \in M$. However, $M_p \leq C_N(a)_p = Z(G)_p$, a contradiction.

If $|g^G| < n$, let P_0 be a Sylow p -subgroup of G such that $P \leq P_0$. Then $M_{p'}P_0$ is a subgroup of G . Now we have following inequalities:

$$\begin{aligned} |M_{p'}P_0 : C_{M_{p'}P_0}(g)| &\leq |g^G| < n = |G : C_G(a)| \\ &= |G : C_G(a)|_p \\ &= |C_G(b) : C_G(a) \cap C_G(b)|_p \\ &= |C_G(b)|_p : |C_G(a) \cap C_G(b)|_p \\ &= |P_0| : |C_G(a)|_p. \end{aligned} \quad (3.1)$$

Moreover, since $M_{p'} \trianglelefteq G$, $M_{p'}$ is abelian, $M_{p'} \cap P_0 = 1$, and $M_{p'} \leq C_G(w)$. We have that

$$\begin{aligned} C_{M_{p'}P_0}(g) &= C_{M_{p'}P_0}(w) \cap C_{M_{p'}P_0}(x) \\ &= M_{p'}C_{P_0}(w) \cap C_{M_{p'}}(x)C_{P_0}(x) \\ &= C_{M_{p'}}(x)(M_{p'}C_{P_0}(w) \cap C_{P_0}(x)) \\ &= C_{M_{p'}}(x)(C_{P_0}(w) \cap C_{P_0}(x)) \end{aligned} \quad (3.2)$$

Set $D = C_{P_0}(w) \cap C_{P_0}(x)$. Combining equations (3.1) and (3.2), we have that

$$\frac{|P_0|}{|C_G(a)|_p} > \frac{|M_{p'}||P_0|}{|C_{M_{p'}}(x)||D|}.$$

This implies that $|D| : |C_G(a)|_p > |M_{p'} : C_{M_{p'}}(x)| = |U|$.

On the other hand, since $D \leq C_G(x)$, and $U \times C_{M_{p'}}(x) = M_{p'} \trianglelefteq G$, we have that D normalizes U . Also, it follows that

$$C_D(u) = C_G(u) \cap D = C_{P_0}(u) \cap C_{P_0}(w) \cap C_{P_0}(x) \leq C_{P_0}(a) \cap C_{P_0}(x).$$

Thus

$$|C_D(u)| \leq |C_{P_0}(a) \cap C_{P_0}(x)| \leq |C_G(a)|_p.$$

Therefore

$$|u^D| = |D : C_D(u)| = |D| : |C_D(u)| \geq |D| : |C_G(a)|_p > |U|,$$

a contradiction.

Thus, the above arguments imply that $|x^G| = m$.

Next, we show that $C_N(b) = P \times L$ ($L \leq Z(G)$) is abelian. For any non-central element $x \in P$, we have that $C_{M_{p'}}(x) \leq Z(G)_{p'}$. Otherwise, we may replace b with x for it is proved that $|x^G| = m$, which leads to a contradiction that $C_N(a) \cap C_N(b) \not\leq Z(G)$. Therefore $P/P \cap Z(G)$ acts on the group $M_{p'}/M_{p'} \cap Z(G)$ fixed-point freely. Hence, $P/P \cap Z(G)$ is a cyclic group or a generalized quaternion group. So, if P is not abelian, then $p = 2$ and $P/P \cap Z(G)$ is a generalized quaternion group. Now $b \in Z(P)$ but $b \notin Z(G)$. There exists an element $y \in P$ and $y \notin Z(P)$ such that $b = y^2c$, where $c \in Z(G) \cap P$. So $C_G(y) \leq C_G(b)$, which shows that $y \in Z(C_G(b))$, of course, we have that $y \in Z(P)$, a contradiction. Therefore P is abelian, so $C_N(b)$ is abelian, as required.

Step 11. If d and t are two non-central elements of N such that $|t^G| \neq m = |d^G|$, then

$$(11.1) \quad C_N(t) \cap C_N(d) \leq Z(G).$$

$$(11.2) \quad |t^G| = n, \text{ consequently, the } G\text{-conjugacy class sizes of } N \text{ are } 1, m \text{ and } n.$$

(11.1) Suppose that there exists a non-central element $y \in C_N(t) \cap C_N(d)$. To accomplish the proof of (11.1), we will distinguish two cases by Step 4 for L .

(1) If $L \not\leq Z(G)$, Step 4 implies that $C_N(b) \leq Z(C_G(d))$, from which it follows that $y \in Z(C_G(d))$. Note that y is non-central, so $C_G(y) = C_G(d)$, and hence $t \in C_N(d) \leq Z(C_G(d))$. By Step 2, we have that $C_G(t) = C_G(d)$, a contradiction. Therefore $C_N(t) \cap C_N(d) \leq Z(G)$.

(2) If $L \leq Z(G)$, we know that n is a power of p . In this case, we assert that t can be chosen as a p' -element. In fact, let t_p be the p -component of t , obviously, $C_G(t) \leq C_G(t_p) \leq G$. If $t_p \notin Z(G)$, by Step 10, we have that $|t_p^G| = m$, and therefore $|t^G| = m$, against the hypothesis of this step. Therefore, $t_p \in Z(G)$, so $C_G(t) = C_G(t_{p'})$, where $t_{p'}$ is the p' -component of t . Thus, without loss of generality, we may assume that t is a p' -element.

Now, we may assume that y is a p -element. Again by Step 10, we have that $|y^G| = m$. Moreover,

$$C_G(ty) = C_G(t) \cap C_G(y) \subseteq C_G(y),$$

which implies that $|(ty)^G| = m$ by the maximality of m . Hence $C_G(ty) = C_G(y) \leq C_G(t)$, and therefore $(|t^G|, n) = 1$, from which it follows that $|t^G| = m$ by Lemma 2.3(b), a contradiction. Thus, $C_N(d) \cap C_N(t) \leq Z(G)$.

(11.2) Consider the quotient group $C_N(b)/Z(N)$ and the set t^N . For any $\bar{x} \in C_N(b)/Z(N)$ and $y \in t^N$, without loss of generality, we may assume that $\bar{x} = xZ(N)$ where $x \in C_N(b)$. Define

$$y^{\bar{x}} = y^x. \quad (3.3)$$

Clearly, the definition (3.3) indicates that $C_N(b)/Z(N)$ acts as a group on the set t^N . Obviously, $t^N \cap C_N(b) = \emptyset$ and $C_N(t) \cap C_N(b) = Z(N)$, from which it follows that the group $C_N(b)/Z(N)$ acts on the set t^N fixed-point freely. Therefore $|C_N(b)/Z(N)|$ divides $|t^N|$. Also $|C_N(b)/Z(N)| = |a^N|$. Since $N = C_N(a)C_N(b)$, we have that $|N| = |a^N||b^N||Z(N)|$. Because n divides $|N/(Z(G) \cap N)| = |N/Z(N)|$, we have $|a^N| = |a^G| = n$. Therefore $|t^N| = |t^G| = n$. Consequently, the G -conjugacy class sizes of N are 1, m and n .

Step 12. $C_N(a)$ is an abelian group and $N/Z(N)$ is a Frobenius group.

For any non-central element $x \in C_N(a)$, we have that $|x^G| \neq m$. In fact, if $|x^G| = m$, then $x \in C_N(a) \cap C_N(x)$, a contradiction to (11.1). Hence $|x^G| = n$ by Step (11.2). Therefore $C_N(a) = M$ is a normal abelian group. On the other hand, $C_N(b)/Z(N)$ acts on $C_N(a)/Z(N)$ fixed-point freely. Since $N = C_N(a)C_N(b)$, we have that $N/Z(N)$ is a Frobenius group with the kernel $C_N(a)/Z(N)$ and the complement $C_N(b)/Z(N)$. \square

COROLLARY 1

Let N be a normal subgroup of a group G . For $a, b \in N$, set $m = |b^G|$ and $n = |a^G|$. Suppose that m and n are the two longest sizes of the non-central G -conjugacy classes of N with $m > n$ and $(m, n) = 1$. If n is square-free, then either $N/(Z(G) \cap N)$ is a prime power order group or

- (i) $C_N(a)$ and $C_N(b)$ are abelian and $C_N(a) \cap C_N(b) = Z(G) \cap N$;
- (ii) the G -conjugacy class sizes of elements in N are 1, m and n ;
- (iii) $N/Z(N)$ is a Frobenius group with the kernel $C_N(a)/Z(N)$ and complement $C_N(b)/Z(N)$.

Proof. Suppose that $N/(Z(G) \cap N)$ is not a prime power order group, by examination of the proof in Theorem A, we find that Steps 1–9 still hold. This implies that

$\pi(|a^N|) = \pi(|a^G|)$. By the hypothesis that n is square-free, we have that $|a^N| = |a^G| = n$. Since $|a^N|$ divides $|N/(Z(G) \cap N)|$, we get that n divides $|N/(Z(G) \cap N)|$. The result now follows from Theorem A. \square

Now, in the following, we can see that theorem in [3] is a corollary of Theorem A.

COROLLARY 2

Let G be a finite group and $n < m$ be the two longest sizes of the non-central conjugacy classes of G . Let $a, b \in G$ whose G -conjugacy classes have sizes n, m respectively. If $(m, n) = 1$, then

- (i) $C_G(a), C_G(b)$ are abelian and $C_G(a) \cap C_G(b) = Z(G)$.
- (ii) $G/Z(G)$ is a Frobenius group with kernel $C_G(a)/Z(G)$ and complement $C_G(b)/Z(G)$.

Proof. Obviously, n divides $|G/Z(G)|$. The corollary follows by taking $N = G$ in Theorem A. \square

COROLLARY 3

Let N be a normal subgroup of a group G . Suppose that $1 < k_1 < k_2 < \cdots < k_r$ are the G -conjugacy class sizes of N , where $r \geq 3$. If $N/N \cap Z(G)$ is not a prime power order group and k_{r-1} divides $|N/N \cap Z(G)|$, then $(k_{r-1}, k_r) \neq 1$.

Proof. It follows straightforward from Theorem A. \square

Remark. It is an interesting topic to discuss if the restriction ‘ n divides $|G/Z(G)|$ ’ in Theorem A can be removed.

References

- [1] Beltrán A and Felipe M J, Certain relations between p -regular class sizes and the p -structure of p -solvable groups, *J. Austral. Math. Soc.* **77** (2004) 1–14
- [2] Berkovich Y and Kazarin L, Indices of elements and normal structure of finite groups, *J. Algebra* **283** (2005) 564–583
- [3] Bianchi M, Gillio A and Casolo C, A note on conjugacy class sizes of finite groups, *Rend. Sem. Mat. Univ. Padova* **106** (2001) 255–260
- [4] Camina A R and Camina R D, Implications of conjugacy class size, *J. Group Theory* **1**(3) (1998) 257–269
- [5] Chillag D and Herzog M, On the lengths of the conjugacy classes of finite groups, *J. Algebra* **131**(1) (1990) 110–125
- [6] Riese U and Shahabi M A, Subgroups which are the union of four conjugacy classes, *Commun. Algebra* **29**(2) (2001) 695–701
- [7] Shahryari M and Shahabi M A, Subgroups which are the union of three conjugate classes, *J. Algebra* **207**(1) (1998) 326–332
- [8] Zhang J P, Finite groups with many conjugate elements, *J. Algebra* **170** (1994) 608–624
- [9] Zhao X H and Guo X Y, On the normal subgroup with exactly two G -conjugacy class sizes, *Chinese Ann. Math.* **B30**(4) (2009) 427–432